
Friday- maths 
 



Answers 
 It could be either 
2835        2836     2837      2838      2839 
2836     2841      2842     2843     2844 
 
Take out the odd numbers… 
Leaves you with  2835    2837      2839    2843 
It is a multiple of 5 so ones number will be 5 
Only answer it can be is 2835! 
 
Rounded to nearest 100 is 2800 
Rounded to nearest 1000 is 3000 

 
 



LO: To compare area 



LO: To compare area 



LO: To compare area 



LO: To compare area           Fluency 



LO: To compare area 
Reasoning                                Problem Solving 



LO: To compare area                  Answers 
Reasoning                                Problem Solving 


